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[CIT834] A unary operation requires _________ number of operators.
1

[CIT834] The ability to add the values of two vectors in C# is achieved through 
__________.
Operator Overlaoding

[CIT834] What symbol will make this statement; System.Console.WriteLine(rt.value) an 
executable statement?
a semicolon

[CIT834] The process of adding operator functionality to a class is called
Operator overloading

[CIT834] Which of these processes uses inheritance to achieve polymorphism when an 
object of a derived class is substituted where an instance of its parent class is 
expected?
Upcasting

[CIT834] What is missing in this statement to make it valid: static void Main(string args)
[] between string and args

[CIT834] Modified behaviour is indicated in C# using one of these keywords
Static

[CIT834] Which of these is defined for writeable indexers and is omitted if a read-only 
variant is desired?
Set accessor

[CIT834] Which of these options is an attribute of  OOP through which the security of 
data could be achieved?
Encapsulation

[CIT834] Where a method is not prefixed by the keyword private, by default such a 
method is said to be ______.
Private
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